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LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each : 1x12 = 12
Q. Nos. 2 to 13 carry 2 marks each 8 2x12 = 24
Q. Nos. 14 to 23 carry 4 marks each : 4x10 = 40
Q. Nos. 24 to 27 carry 6 marks each : 6x4 = 24
Total = 100
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1. Answer the following as directed :
SoTe HAIARS RotiRpiR Tes fa
forrE® RafRestn ter e :
| wTfed T o

1x12=12

(a) Logic is an art / a science / both science and art,
( Choose the correct answer )
SHREH o /[ Rem / 30 e [fem e |
(o5 Te001 TR Thteqy )
e Fe / Rewm [ Tl 93 e Te |
(o= Te1fb @og e )

SRAffEmT ey / fifem / sy o m) fffem @)
(el Trrerelt wrrE o g )

(b) The copula of a proposition is in the past / present / future
tense. :

( Choose the correct answer )

W’{WW@G/W/WQW-WI
(wm Teqch! IR Tfrea )

I G TS [ I[6q / SRR FICT AT |
(w= Tealb @R e )

ST TSI Hewn rai / g / 7 ffeoman aw
(A&t TR T g )
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(c) There is no distribution of term in proposition.
( Fill in the blank )

oS (ICAT 7 NG W=7 |
(N o o T4 )

o0 (I oW NG = AL
( =R SF T )

e S e [
( SR SR 3 e )

(d) Either Radhakrishnan is a philosopher or a politician. It is an
example of disjunctive proposition / conjunctive proposition.

( Choose the correct answer )

TR T e T S e | (X RS o/

SASS 69 nIzFe |
(% Teach! IR Sfersa )

QT 20 e TR SRRl e | afb qfo R
PR/ TS JoCTH SnRA |
( wm Teqlb @R e )

TUTHFWEET TR TR T TerEfRfiR | S WA ST S /
HEICCOICIPIGHERTIHEY
(ﬁﬁﬂw@m’mﬁgﬂ)
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(e) In immediate inference, the conclusion is deduced from one /
two / three premise(s).

( Choose the correct answer )

wmwwﬁmaﬁ/@/%ﬁﬁwwﬁsa@
H | |

(o Teahl A1f Shre )
S SR Prae < / B/ Rl s o Ry
=7 |
(@E@Wﬁ@@m@.)
fasliet 98 srgam SR Safreh T8/ A9/ deam sieg-
Eleupeaekicci ol .
(e T e g )

(f) The predicate of the conclusion of a syllogism is called major
term / minor term / middle term.

( Choose the correct answer )

TR SIS s Reqms sgem / T / (@9 @I |
(o7 TSI AR iy )

TR SR Praced [Reg@es em [ o1%om [ (9o 30 |
(= TeHf ez e )

AR SFFAAN A AT W ek GeeEl [ 9T ke )
TSR WIS A ST |

(7 frmTrE e R )

(S)

(g) Mention any one valid mood of second figure.
fAeR sigma R @I 9@ (94 S Teay 390 |
R eI G T T 3 T Srm A |
3y <o TrARaTET A R AT T |

(h) What will be the truth-value of p Vv g, if both p and g are false?
I q TSTHR e 23 p v g 3 O 22
p €8 q TSR ST T p v g4 TR F 7?7

@pﬂqmﬁ%ﬁma@mpvqﬁuﬁﬁmmwﬁ??

(i) What is the derivative meaning of the word ‘epistemology’?
‘Epistemology’ *R7cor gpeifere =g & 2
‘Epistemology’ *=foa peeifesre =il 12
‘Epistemology’ ®aafy T afiferm w?

(i) Who is the founder of Sarnkhya Philosophy?
e 7] 2ifoDret (e ?
e weTe afSvrer & 2
Are AR TR TE 9Re

(k) State any one point of difference between Rationalism and
Empiricism.
o I SfSerer Were <pl R P b1 AN S |
IR G ST T G (PG G AN ST Pt |

AAE S TR TEFEET A erE o STERESRT HF8 HRAT
o)
1424 [ Contd.
@



(6)

(Il How many Pramanas are accepted in Nyaya Philosophy?
TR TS (FRBT 2919 T 1 27 2
T efeT A e Frem 1 = 2
IR GRS A THIORE e S

2. Write the name of two logicians who have contributed in th
development of modern logic. :

SR SR RS SR SRR 1o SR W e |
ST SR Rt SR ARl o Sk R W e |
e e shmawm e amm am gReid |§ fr

3. State two advantages of the use of symbols in logic.
THRES 2 AR 10! R4 Tead 9 |
SR 2@ TR 4f6 R S T |
el Y e aE g TR

4. Classify proposition according to quality.
B9 TR o iRReTE 9 |
B9 SREA ¢ INRSTe P |
T TS AT o |
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5. Define class membership proposition with example.

TrrRepTR CA TRl Io19 TSI i |
TRIRFTTZ, QI TSl TS T TS |
rErR o T AR get el s

6. Convert the following propositions :
were fRAl IEICARA TS ¥
fafeiRe IesRR TRe ! :
TR SIUTEThRE! O

(a) All philosophers are wise.
sicen WS = @@ |

el WS Zem = |
e AR S ey

(b) Some scientists are poets.
g (TEIAe = IR |
Ffom (TwIfAT 2cew 9 |
T fafmmfif sm gremfi

7. Define middle term with example.

THIAPTR (T e fir |
TIZHPTR (RPN RS S |
Forar oo T RS )

/424
@

1+1=2

1+1=2

[ Contd.




8.

9. State two points of difference between logical constant and variab]
riables,

10.

11.

(8)

Give an example of fallacy of four terms.
So=efil (e @bl Sreaer i |

S (ICEs 9 Trzaet e |

A Gy AR W AR A

I AR ST RTET e 751 A9l Trmy w9 |
I SRR R #ARCER 701 7B N Semy e |
Qe fedm Tt Aemeg 7 BRI RR

Define conjunctive function with example.
TAIRITTR FLCAET Forwis Iiged ey |

TAIRIPTR, TR FCTH T G |

SIS ST ArE g1 iR wram|

Write the name of two empiricist philosophers.

& Sfseerin wrfaaT J fordr |

e SfeEel Mfeces A e |
A e T i g forl

12. Define Piirvavat Anumana with example.
TUIRIePTR, #[Jae S e el |
TAIRFPTR {48 SRAICT F<E TS |
3 SRR 1AM A g forfefFIsi v |
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13. What is realism?
Jraam 2
@AM 1 ?
i Y A g

14. What is symbolic logic? State two points of difference between
traditional logic and symbolic logic.
ST SERER P @ S SERER WIE AT
SRR TER 151 2N TrEe T |
(BT TERER e N @R RIS SEREN GR AT
SRR T 4 N9 TEy I |
ot e T gent A e o R g
A wRET fer|

15. Explain Four-fold Scheme of proposition.
T TR TSTE T ¥4
50 D ReTee T |
o & R e TEE B

16. Reduce the following sentences into strict logical form :

o IRPTRS SHREFTIS 60 1S 91 =
Mea ABRT SHREPTHS 6 AT Al -
e TR ReRREER i s A

(a) Learned are honoured everywhere.
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R >a <jfere |
fRae g = |
T S pisE

2+2=4
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(b) Many persons are not pre :
present at the meeting. ' 18. State any four general rules of pure categorical syllogism. 4
IO A2 TSI THfFe Fifee |
s faeers e R e SR TigRe e SoEe 39 |
AR FeIfice SqeifEe
I TS S foet | ey FrRer TICHR @ I SR SHieet R S e |
Mell AR SATBIRT TR | 78 T R = SR s w19 R
(c) Nobody can do it. 19. Write a short note on figure of a syllogism. 4
RIS GBI BT I | AR FREA T BT 5 (Bl forn )
(P2 Bl FHCS K 1 | TR K TS qfs R B cETed |
ST TEE! AEA g =y <o e Hee g ol
(d) Only graduates are eligible for the post. 20. ieg?;l;ef::; ::; t(:ittﬁ: :Z::g:;ng SylloRistE AIEREERE into, stuct 4
(9% H© ' | | ' .
HSFAPCEIL, €2 M G (197 | frfiRe W SEEFPEE R (@I @B SRS o qofe “RTe 1
(FE] NOFF2 2 10 o) 15T | o TR (gl e 5
Graduates BIa & HIfUM Y@ 31| ' ﬁmﬁﬁ: ?ﬁﬂ?’?;g A T wﬁ@mﬂ@ RIS IMIERE
FCql GR 99 (S99 Al :
17. D - . wﬁmagqmﬁrﬁamﬁgwnﬁﬁ@‘fg%ﬁﬁmmw@:
. Define propo-smon according to traditional logic, Explain dif .
parts of a logical proposition. erent (a) Aristotle was a great logician, because he was a philosopher and
R ST 1+3=4 all great logicians are philosophers. '
”3@;] Eq;j_: |a POAF % q1 1 9 \gﬁwr
SIRXCIA A 40 ° T R GRE’SH E wleq wRw wikE, TR (@8 «ue T S ARl
oleq SRR T | ‘
RIS SRS S I6C19 & W8 | @ R
RfSa weesfer amam | \ e © IR RSt e e Rre R, IR R e e 9w
S5 e o iR |
e YReffeme SR s :
TRy L L ﬂﬁ"“"tmmﬁggq@ qﬁmmﬁﬁtgﬁmﬁﬁq,mﬁwmm&ﬁmm
HIAEAT fer |
et fife @i |
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(b) He is not superstitious, because uneducated pe
superstitious and he is not uneducated persons are

(o8 RPN 7=, [P SR fRresTee i
T | SR S o6 e

O SFIT 7, T SRRl TR a3t R i o |

e @mfy wemafii 7@, aEm
e, T M et R oty e

21. Write a short note on metaphysics.
SRR o «fb 5 e B o

SRR o «fe PR BT corean |
QeneTTiErfY dmH gea forl

22. Explain any four characteristics of Indian philosophy,
SeR T R e BIRGT CAfRET e 54 |
SROW T (@ I GRS G Wl
TRaTR g srafasn dbs e for)

23. Distinguish between Svarthanumana and Pararthan,
: mﬁna_

T O oI e “M Ry |
MR % ~RIATEIC T8 N6 (it |

TE ERfER fem (Svarthanumana) AR gy N
(Pararthanumana ) forma ®RET &) T

1424

24. What is the derivative meaning of the word ‘logic’? Discuss the utility

25. Defin

(13 )

of the study of logic. 2+4=6

Logic” *mor Jefesre = 2 wRem S Seicaier KA
SICEAA I |

Logic’ *mifoa Jeofere oY 7 SISH AT Toiafrer e
Al AT |

“Logic’ |t 9 i w7 ghefEmR ff dEe )

Or / %31/ 5[/ Tl

ent

Define proposition according to modern logic. Explain differ
2+4=6

forms of compound proposition with example.
w@ﬁﬁ@ﬂwﬁwwmﬁw e R [fen 2R
S TS T 0 _ |
wigfre SEREH SPICT oe SR TS | e Twee Riea eeTR
THrZAPTR, I A |

WWWWW%IWW@@
a@qﬁr@ﬁﬁﬁﬂﬁmﬁl

cal

¢ syllogism. Describe the structure of pure categori
2+4=6

syllogism.

Wﬂmﬁmlﬂﬁﬂﬁ«mﬁwmacfmwu

wﬂfwmelwﬁﬁﬁmwm sige1 It AT |
mﬁm%lﬂéwﬁﬁmmqﬁww%n
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(14 )
: : : ke criticise Descartes’ innate
Or / M2/ @231 / war 27. thatqli) Ez::snahsm? How does Locke cr ylp
ideas? Di -
Give examples of each of the valid moods of the third figure 6 B ot S R SNCET IR0, el
. ; R (It TS ;
TR RS AT (39 I B e gy | - E'i -
PO FREICY 2AfSfb (34 97 <36 3w Twrzaet e | 817 o o O COICE S AR S A,
ATl Tremf A GRETET AR A AR | S T |
? wrpeT AR SHER TR arime fafsret aeRE|
26. Describe the characteristics of symbolic logic. 6 el e g1
AOIPIRF SR CAFEPTR T 341 | Or / 7z / &1/ T
AT SHRAGNCT ¢RIl I e | What is Idealism? Explain any four characteristics of Idealism. 2+4=6
S TR ST e R, < < e 7 ST e S G e
) : ;
Or / ST/ S0/ o0 SR I T 2 ST (3 A Sy CaiEs S A |
Y7 AEER SEfasE s AT
Construct truth table for any three of the following PTOpOSitiona] giE (3TTeeiemR) aTEt 333'
forms and determine whether it is tautology, contradictq e prera ol
contingent r2y+ 201{2“6
Wﬁmwwwﬁm%ﬁﬁﬁw@mmw * % K
[ (TR Foe, FOsMUN (1 ARTEIARIE ey <5y
FafeRe e seRasf cwmmmiﬁﬁaw@%mm
R CTRER TossTer, o N SREIREE O Refy gy |
TEMEE THE SYTEER HehRHBE  SERasl Ry T e
SHR AR SHRE!T e @, Waﬁmmmmﬁlm :
(@) (p-q)-(p>D~q)
(b) ~pvig>~p)
(c) (pDg)=(~g>D~p)
(d) p>D(p-q)
24C
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